

$$t_1 = 10$$

$$t_r = 91$$

$$d = \frac{91 - 10}{r - 1} = \frac{81}{r} = (V)$$

(1)

$$t_n = a + (n-1)d = 10 + (n-1)V$$

$$10 + (n-1)V = 101$$

$$Vn - V = 91$$

$$Vn = 102$$

$$n = 102$$

$$101, 101, \dots, 99V$$

$$99V \frac{V}{102}$$

(2)

$$r = 0.01 \text{ یا } 1\%$$

$$\frac{99V - 101}{V} + 1 = 102$$

$$d + a_n = a_{n+1}$$

$$9d + r a_n = -9n + 10$$

$$10 - 9n = 9d + (dn + B)r$$

(3)

$$rd + a_n = a_{n+r}$$

$$9d + r a_n = -9(n+r) + 10$$

$$10 - 9(n+r) = 9d + r(dn + B) + rB$$

$$rd + a_n = a_{n+r}$$

$$rd = -9 \Rightarrow d = -r$$

$$10 = 9d + rB \rightarrow 10 = -10 + rB$$

$$rB = 20$$

$$B = 1$$

$$a_n = -rn + 1$$

$$a_1 = -r(1) + 1 = -1$$

$$a_{102} = -r(102) + 1 = -101$$

$$a_1 + a_{102} = -101$$

$$t_r = a_1 + rd = r^x - 1 = y - 1$$

$$ry = y^r + y - r$$

(4)

$$t_n = a_1 + Vd = r^{x+1} = r^x \times r = ry$$

$$(y-r)(y+1) = 0$$

$$t_{102} = a_1 + 102d = r^{102} - r = (r^{102})^r - r = y^r - r$$

$$\frac{ry}{y} = r \rightarrow \frac{y^r}{y} = r \rightarrow y^{r-1} = r$$

$$t_r + t_n + t_{102} = 102t_1 = 102 \times ry = 99y$$

$$y = r^x = r$$

$$r^x = y$$

$$99y = 102 \times r \Rightarrow 99r = 102r$$

$$x = 2$$

$$d = \frac{t_{1r} - t_{10}}{1r - 10} = \frac{\Delta}{r} = r, \Delta$$

(2)

$$t_{10} + t_{1r} = r\Delta$$

$$t_{1r} - t_{10} = \Delta$$

$$+ \frac{t_{1r} + t_{10}}{r} = r\Delta$$

$$r t_{1r} = r^2 \Delta$$

$$t_{1r} = r\Delta$$

$$t_{10} = 10$$

$$\alpha_{1r} = -1r, \Delta + r\Delta = r\Delta$$

$$t_{10} = \alpha + 9d = \alpha + r\Delta = 10$$

$$\alpha = -1r, \Delta$$

$$t_1 + t_r + t_{r-1} + t_{r-2} + \dots + t_0 = \frac{\Delta}{r} (r\alpha_1 + r\Delta) = S_1$$

(9)

$$S_n = \frac{n}{r} (r\alpha_1 + (n-1)\Delta)$$

$$S_1 = \frac{1}{r} S_r$$

$$S_r = \frac{\Delta}{r} (r(\alpha_1 + \Delta) + r\Delta) = \frac{\Delta}{r} (r\alpha_1 + 1r\Delta)$$

$$\frac{\Delta}{r} (r\alpha_1 + r\Delta) = \frac{1}{r} \times \frac{\Delta}{r} (r\alpha_1 + 1r\Delta) \Rightarrow r\alpha_1 + 1r\Delta = r\alpha_1 + 1r\Delta$$

$$\Delta = r\alpha_1$$

$$\alpha_r = \alpha_1 + \Delta = \alpha_1 + r\alpha_1 = r\alpha_1 \Rightarrow \alpha_r = r\alpha_1$$

$$t_n - t_{n-r} = \Delta \rightarrow r\Delta = \Delta \rightarrow \Delta = \Delta$$

$$t_0 = \alpha_1 + r\Delta \quad t_9 = \alpha_1 + 1\Delta$$

(V)

$$t_9 - t_0 = (t_9 - t_0)(t_9 + t_0) \Rightarrow r\alpha_1 + 1r\Delta \Rightarrow Z = \frac{r\alpha_1 + 1r\Delta}{\alpha_1 + r\Delta} \Rightarrow Z = r\alpha_1$$

$$r\Delta = r\alpha_1$$

$$r(1 - r\Delta) = r - 1r\Delta$$

$$\Delta = \frac{r + \sqrt{r} - r + 1r\sqrt{r}}{1r + r} = \frac{1r\sqrt{r}}{1r} = \sqrt{r}$$

(1)

$$\Delta = \frac{b-a}{n+1} = \frac{r\Delta - r}{r\Delta - r + 1} = \frac{r\Delta}{r\Delta - r}$$

$$\frac{r\Delta}{r\Delta - r} \times \frac{9}{n}$$

(9)

$$t_{n+1} = 11$$

$$\Delta = \frac{9}{n}$$

$$r\Delta = r\Delta - 1\Delta$$

$$1\Delta = 9\Delta$$

$$n = 10$$

$$t_{n+1} = \alpha_1 + ((n+1) - 1)\Delta \Rightarrow 11 = r + \Delta$$

$$\alpha_{n+r} + \alpha_n = \alpha_{1r} + \alpha_{10}$$

$$t_1 = r\Delta \quad t_n = \alpha_1 + r\Delta$$

$$-d$$

$$\alpha_1, \alpha_r, \dots$$

$$+d$$

$$\alpha_r = 0$$

(10)

$$\frac{r\Delta + r}{n + r + r} = \frac{r\Delta}{1r + r} \Rightarrow n = 1 \quad \alpha_1 + r\Delta = r\alpha_1 + 9\Delta$$

$$\alpha_1 = -\Delta$$